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5 W KT ERT— T B #iIN # 891 ) 0 nf|# 884 mi| AFI44FE10H27H
11 W K i LET—T" B H#IN 6,515 0 5,740 SFI44E10H 27 H
24 W AT R PIET— T H H1N 3,325 0 3,270 AF4FE10 H27H
34 B AT — T B HiN 1,000 247 753 AF4E10 H27H
37 R K TENET 7T B N 6,989 2,417 2,338 AF4FE10 H27H
39 B AT FNET T B HiN 747 0 747 AF5E10H 19 H
48 HACRE AT R T B N 5,667 0 4,932 AF4FE10 H27H
50 B AT MR T B N 11,874 0 993 SFI44E10H 27 H
53 HACRE KT R T B N 1,834 374 959 AF45E10 H27H
60 B AT MR =T B HiN 792 0 792 SFI44E10 H 27 H
61 WA AT R =T B #iN 3,093 0 3,093 AF4F10 H27H
63 R KT/ ML T B HN 4,904 4,773 SFI44E10 H 27 H
64 AR KT/ ML T B HN 2,288 347 1,941 SFI44E10H 27 A
66 WA KT/ T H, =T BN 10,165 7,547 2,618 SF4E10 H27H
67 B KT/ =T HHN 1,153 0 1,153 AF4FE10 H27H
85 WU K TART T B HiN 5,456 0 5,456 SFI44E10 H 27 H
88 HCE K THAETIU T H HipN 12,493 0 1,126 AF4510 H27H
89 R K TART U T B HiN 800 0 800 SFI44E10H 27 H
97 HABEKHT=ERT T H iy 1,060 0 601 AF4FE10 H27H
102 A K= =T B #iN 773 0 773 AF44E10 H 27 H
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103 HOABEKT=ER] =T H #iN # 982 ni|#J 0 ni|#) 982 mi| AFI44FE10H27H
108 HAE K= RTIY T H #PN 3,970 775 3,195 SF4E10 H27H
121 HCRE AT HR BT T H N 1,144 0 1,144 AF4FE10 H27H
125 HCRE AT HR BT =T B TN 6,709 0 3,085 FAMAFI0A2T A

1,391 AF5510H19H
130 R KT TR e BT Y T B N 12,464 1,400 2,092 SFI44E10 H 27 H
133 HCRE AT HR BT 0T B N 25,649 1,008 4,692 SFI44E10H 27 A
134 N QL B = 10,902 2,748 537 SFI44E10 H 27 H
135 HCRE AT HR BT 0T B N 3,222 0 3,222 AF4F10 H27H
148 B KT IR — T HHN 25,640 3,968 1,386 SFI44E10 H 27 H
149 O KM FER—T HHiIN 796 0 796 SFA4E10H 27 H
154 A KHFEIR T BN 4,970 3,074 1,041 AF4E10 H 27 H
156 W KT T H HN 24,740 4,426 3,633 SFI44E10H 27 A
158 B KT IR =T HHIN 12,216 5,124 1,971 SFI44E10 H 27 H
163 A KTFER =T B H#iN 1,012 0 683 SFA4E10H 27 H
169 B KT — T H HipN 12,596 661 1,629 SFI44E10H 27 H
170 W KT RERT T H HipN 18,207 7,778 4,026 SFI44E10H 27 A
171 B KT T H HpN 9,872 0 1,493 SF4E10 H 27 H
172 W KT RERT T H HipN 17,076 1,249 6,047 SFI44E10H 27 A
173 B KT T H HN 5,691 0 5,691 AF4E10 H 27 H
175 WARKMEIT—TH, =T HHA 66,584 0 15,357 SFI44E10H 27 A
178 FAE KT EERT Y T B N 1,340 0 1,092 SF4E10 H 27 H
179 B KT FERT I T B HiN 4,146 0 4,146 SFA4E10H 27 H
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182 W KT RERTIU T H HipN ) 581 nf|#9 0 ni|# 581 m| “BF4410H27H
183 FAE KT EERT Y T H HN 10,206 770 1,993 SF4E10 H27H
186 W AT R — T HHiN 2,768 0 1,279 AF4FE10 H27H
192 WK TRRR =T B N 9,442 1,008 8,434 SFI44E10H 27 H
204 W AT KR —T B 1IN 3,097 1,491 1,606 SFI44E10H 27 A
213 /=5 QT TPAN v L = o 3,479 1,037 2,006 A0/ 27 F

436 AF5510H19H
214 /N QT DAN v = 496 0 475 SFI44E10 H 27 H
215 /=5 QT TPAN v L = 7,633 876 1,683 SFI44E10H 27 A
221 R KT \EET =T B #1N 16,513 1,984 281 SFI44E10 H 27 H
225 WA KT FHE—T HHIN 12,779 677 991 SFI44E10H 27 A
228 WA KT FE—T BN 13,908 1,780 1,560 SFI44E10 H 27 H
229 HABKHT FHE—T HH#iN 5,690 0 5,690 AF4FE10 H27H
242 WA KT PR =T BN 4,701 500 1,702 SFI44E10 H 27 H
245 WA KT FHE =T HHIN 1,198 775 423 SFI44E10H 27 A
252 AR AT FEAT HHIA 5,659 2,965 2,694 SFI44E10 H 27 H
266 WA KT FHE-ET HHN 1,345 339 469 SFI44E10H 27 A
267 WA KT FEAET BN 23,136 4,128 3,609 SFI44E10 H 27 H
274 WA KT L T H HIN 1,639 0 1,639 AF4FE10 H27H
283 W KT —T B HN 1,216 0 1,216 SFI44E10 H 27 A
291 W KT —T HHIN 29,804 13,722 13,635 AF4FE10 H27H
292 B KT —T BN 9,022 5,000 4,022 SFI44E10 H 27 H
293 W KT —T HHIN 945 0 945 AF4FE10 H27H
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297 W KT T HHN #J 3,549 nf [ 0 ni|#) 3,549 mi| SF44FE10H27H
303 BTG T B i 991 0 991 SFI44E10H 27 H
325 B AT BT T B N 1,564 0 1,494 AF4FE10 H27H
336 W K TR BT 10T B N 4,979 0 475 SFI44E10H 27 H
340 W KT —T HHIN 8,491 3,189 4,586 AF4F10 H27H
342 R K TART U T B HiN 1,150 0 1,150 SFI44E10 H 27 H
357 B K THAKT — T HHiN 834 0 834 AF5510H19H
358 N QL B = 2,214 0 238 SFI44E10 H 27 H
363 W K4 1 LIET— T B 1N 1,241 0 1,241 AF4F10 H27H
369 BB AT AT IU T H Hipy 5,882 0 5,882 AF4E10 H27H
375 /= QT TPAN v L i = 9,384 0 503 SFI44E10H 27 A
378 HURRE KT HR BT — T B I 1,245 0 340 SFI44E10 H 27 H
380 AR KT ERT T B N 7,733 1,420 4,970 SFI44E10H 27 A
389 FAB KR IRIY T B HiN 37,632 230 2,853 SFI44E10 H 27 H
391 B AT FERIE T B HiN 14,200 0 2,698 SFI44E10H 27 A
392 R KT BT =T B #1N 1,221 0 1,221 SFI44E10H 27 H
394 A AT FER =T HH#iN 1,021 0 1,021 SFA4EI0H 27T H
402 HOAF K= T B H#iN 2,426 274 620 SF4E10 H 27 H
405 W A4 1 LIET— T B 1N 1,070 0 1,070 AF4F10 H27H
a0 4 206,178 ni




